EXAMEN 2n ESO 

TEMA 5: EQUACIONS
Nom: _________________________​​​​​​______ Curs: ____ Data:       
1.- Resol les següents equacions  (0.5 cadscuna)

a) – x + 1 = x + 7




b) 2x + 5 = –15

c) -8 + 7x = 13




d) – (– 2x +10 ) = 10
e) 7x – (2 – x ) = 3x + 1



f) x + 2( x – 1) = 4

h) 7( x + 2) + 4(x + 3) = 3x + 1


i) 3( x – 3) – 4(2 – 3x) = 2(1 – 2x ) 

2.- Resol les següents equacions  (0.75 cadscuna)

a) x – 2(x – 1)+ 3(4 – 2x) = 3x + 2( x –5)
b) 
[image: image1.wmf]1

7

5

=

-

x









c) 
[image: image2.wmf]2

5

10

2

8

4

-

=

-

x

x







d) 
[image: image3.wmf]0

3

3

3

2

2

2

=

-

+

-

x

x


e)
[image: image4.wmf]4

5

20

4

3

2

-

=

-

+

-

x

x

x






f) 
[image: image5.wmf]3

2

3

1

6

-

+

=

+

x

x

x


´
g) 
[image: image6.wmf]3

12

2

1

4

11

3

-

-

-

-

=

-

-

x

x





h)
[image: image7.wmf]1

4

3

6

1

-

=

+

-

+

x

x


_1298398443.unknown

_1298398561.unknown

_1298398709.unknown

_1298398913.unknown

_1298398660.unknown

_1298398496.unknown

_1298398362.unknown

